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ne fait pas partie de I'exercice, svp voir explication 7b /
not part of the walking exercise, please view explanation 7b

ENCHAINEMENT NATUREL 66 / NATURAL CONNECTING IMAGE 66

la simplicité de 1 versus 1.618 (Q) the simplicity of 1 versus 1.618
diagramme approximatif / approximate diagram

boulots / birch trees

peupliers / cotton wood trees

arbres a aiguilles / needle trees .

arbres courbés / curved trees 7N\

Diste / trail = ———

dans les filieres PDFs / in the PDFs files
endroit / location =

lignes obliques (exclus de la version virtuelle) /
oblique lines (not part of the virtual version)

connection entre les élements / |
connection between the elements
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